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111 Educational Interest 30 30

1\ General Hindi 10 10

\ General English 10 10
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PART -1

General Mental Eligibility ATHT AT TRaar
1. Select the diagram which correctly 1. 3T 3 FT =I5 H Eﬁﬁ@ HeFhT 37T
illustrates the relationship between ST % S el sy el & & esiar 8

wheat, maize and grains.

‘0 Qo
O

B. B.

"aD O NCDR®

2. Which of the following figure will 2. fHfafEd & 9 & € STTeia @
follow the series? ST 7
y O X 0 v,
2 i A S <
L l
A
- |0 A.
x '3
VO Vo
B. [o B IS
O O
x| v
C. o
C.
x ™
m 0y
D. O
D.
x O OxD
¥ V

SPACE FOR ROUGH WORK / T% &1 & o1 s1re
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3. Select a suitable figure from the answer
figures that would replace the question

mark (?)

I;KE|—|ZP ?

4. Find the missing pair in the series.

EQ, FS, HW, KA, ------- TL
A. OF
B. OB
C. AL

D. AM

IR FATHIAT H & IR HTHT Hl =TI
s faeg (2) 1 wireenfua smam

I;KEA% ?

#GAT # T UE 1 14 L

EQ, FS, HW, KA, ------- TL

A.

B.

OF

OB

AL

AM

SPACE FOR ROUGH WORK / T% &1 & o1 s1re
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5. Which number indicates the owners 5. 9t G 3T AIfcAhl hl 37T AT ” ST

who are neither engineers nor good T et @ 7 € o= weEs
administrators
F = Good Administrators F = 37 T
E = Engineers E = $fifrr
G = Owners G = TTfetsh
E E

o LB, LA,
\J 9

A 4 A. 4
B. 6 B. 6
C. 2 C. 2
D. 7 D. 7
6. If a mirror is placed on the line MN, 6. 3gfc MN @1 W Ush 2907 W@ S, ol fou &

then which of the word is the right Y1e¢ H H ohI< 9T ¢ (T 7T I1e8 hT T
image of the given word? ferfaresr 2
M

M

JUNE
JUNE

N

N
A. 3INUL

A. INUL
B. 3nuJ

B. 3nuJ
C. 3nuL

C. 3nuL
D. 3INUJ

D. INUJ

SPACE FOR ROUGH WORK / T% &1 & o1 s1re
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7. Select a suitable figure from the answer
figures that would replace the question
mark[?] from the question figure.

ull

Siik

?

| & [

D. J

8. If republic day in any year happens to be

on Thursday, which day will be
independence day?

A. Thursday

Sunday

B.
C. Tuesday
D.

Can’t be known

9. Choose the figure which is different

from others.

O

V

L]

[

(a)
(a)
(b)
(c)
(d

onwp»

(b)

(c)

(d)

IR FATHIAT H & IR HTHT Hl =TI

ST S5 ST o T Toreg i Ifaeerioa
HTT?
fO{UIHAN]
A.
&
B.
U
C. ﬂ
D. U
aife; fopreft o TTorcht feer e ot T A
ST fea ford fam wm strem?
A. T&ER
B. R
C. HIdaR
D. JTd el foRaT ST dehal
3 AT I I S 3 & R 2

9

V

L]

[

(a)

(a)
(b)
(©)
(d)

OO0 w

(b)

()

(d)
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10.

If 23+ 4=24%+8=32, then what

10.

IR 23+ 4=24%28=32 2 A 6%+4

will be the value of 6% + 47 1 T FT T
A. 9 B. 10 A. 9 B. 10
C. 8 D. 12 C. 8 D. 12
11.  Find the missing number. 11. &A1 1 14 HifSTY
7 7
63 63
21 14 ? 9 27 14 9 )
30 30
15 15
A. 33 B. 145 A. 33 B. 145
C. 135 D. 18 C. 135 D. 18
12. In a certain code, ARMY is written as 12. @ﬁﬁ’jﬁ Eﬁgﬁ, ARMY &1 ASOB fer@n
ASOB. How is JUDGE written in that ST 81 JUDGE &1 39 %18 I 9 forar
code? ST
A. KVEHF B. JVFJI
C. TTCED D. TWGKIJ A. KVEHF B. JVFIJI
C. ITCFD D. JWGKJ
13.  'Which word does not belong to others? 13. =l @1 vree q@ll § Tsiferd ef 22
A. Lion B. Elephant A. IX B. =reft
C. Leopard D. Tiger C. = D. wg
14. 1fHOT is coded as GNS, how is COLD 14. 3R HOT % GNS & &9 H i &Ld =, d
coded? COLD 3 & Fre frar strem?
A. BNK
NKC A. BNKC
B. DPME B. DPME
. EQNF
C EQ C. EQNF
D. FR
0G D. FROG
SPACE FOR ROUGH WORK / T% &% & fo13 siirg
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15.  Select the correct combination of 15.  fow T Geterter i Eqferd i SR * foel

mathematical signs to replace the * T STereerTRre st 3 forw T dokat 3
signs and to balance the given equation . .

T TAISH T =T
40*2*%4*3 %8

40 %2 %4 %3 *8

A t+—+=
A t+—+=
B. ++=x
B. ++=x
C. ++x=
C. ++x=
D. +x—=
D. +x—=
16. The relation between triangle, 16. fr=forfaa o @ fore @ mﬁg@r, H@j}f
quadrilateral and square can be best i Tt ¥ off gey F1 gad oT=eT Fafa
illustrated by which of the followin
d & feraT ST HehaT 22

diagram?

A0 O A O O
O

@
.
: O

SPACE FOR ROUGH WORK / T% &1 & o1 s1re
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17.  In the English alphabet, find the position 17.  Siusht guimret # 78 TR & L 1 €I 1

of L from left. s
A 12 A 12
B. 16 B 16
C. 11 C 11
D. 15 D. 15
18. If S means ‘—’, Q means ‘x’ R means 18. afgSarare— 7 QA x°, RFH

‘+” and P means ¢+’ then
IP45R 2Q2S4="?

A.

40

I+ ARPH A+, A
IP45R2Q2S4=?

A. 40
B. 42 B 4
C. 36 C 36
D. 46 D. 46
19. 1f879=9,625=1and 586 =9, 19. 3 879=9,625=17d4T586 =9 %,
then 785 = ? ar785 =9
A. 6 A. 6
B. 7 B. 7
8 C. 8
D. 9 D 9
20. Find the missing letters in the series 20. g BKK, DMM, FOO, -------- ,JSS
BKK, DMM, FOO, -------- , JSS a9 gaﬁaﬁmaﬁﬁq|
A. HLL A. HLL
B. HBB B. HBB
C. HTT C. HTT
D. HQQ D. HQQ
SPACE FOR ROUGH WORK / T% &1 & o1 s1re
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21. How would the pattern appear when the 21, foidier @ 9 yrEyt 3fie sl Are uX Har
transparent sheet is folded at the dotted Yo few@rs 3
line?

%} | <
RS
v

D. < b. RR.

22.  What will it look like when you look in 22. 11 SRt 45 T, o1 qdoT § Qe T SR
the mirror at 11:45? ST
A 11:45 B. 1215 A. 119945 B. 1299@X 15
C. 2945 D. 1059t 45 .
C. 12:45 D. 10:45

23.  Which of the given responses would be 23. &t yffshamsT O © i |1 3TRIE! s |

in a meaningful order of the following 1ot 3w B
in ascending order? N

a) 0645 hrs 2) 06455
b) 1930 hrs b) 1930 @t

¢) 1335hrs c) 1335%

A. d,b,c,a B. a,d,c, b
C. a,b,c,d D. a,c,b,d

A. d,b,c,a B. a,d,c,b
C. a,b,c,d D. a,c,b,d

SPACE FOR ROUGH WORK / T% &1 & o1 s1re
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24.

25.

26.

Deepak placed his watch on the table in
such a way that at 6 pm, the hour hand
points to the South. In which direction,
the minute hand will point at 9 pm?

A. NORTH
B. WEST
C. SOUTH
D. EAST

U is the son of V X is Y’s mother and
wife of U. What is the relation between
V and X?

A. Sister
B. Father-in-law
C. Aunt
D

. Insufficient data

If the given figure is folded to make a
cube, then what will be the number on
the opposite surface of number 67

1

2
3
4

SN w »
[V, T ) S SN S

24.

25.

26.

ek J 31T Tt °S W 39 YRR Wl {6
RITH 6 ST 5 26T gs et fawmm s STREL, @t
T 9 =1 fire 1 g3 forwr famm # gt

A. T
B. ufsm
C. gfegor
D. &

N

U, VH A2 X, Y ol ATl 3R U 3 ot
21 V 31 X ol 71 iy 22

A. &
B. &§L
C. ==l
D. 39 2T

afe fau e foet st ArgaRt o= T ST, ar
6 31k o foaiid Hag T foha 3ieh aTe dag
JTRAT?

Al W]

o a0 % »
O N N

SPACE FOR ROUGH WORK / T% &1 & o1 s1re
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27. Which of the following will replace the 27.  fafafaa & wataee 1 frae gl

question mark? fopT ST
AN A A A
4 2
e AAA
A. 823
A. 823
B. 169
B. 169
C. 412
C. 412
D. 256
D. 256
28. Select a suitable figure from the four 28. o foercdi | ¥ U ST HTH(d HT =I5
alternatives that would complete the L S 3ATeRTG BT = o H|
figure matrix. . R
LAD L AD
(')
ony-» ou:
A A.
B. B.
C. C.
D. D.

SPACE FOR ROUGH WORK / T% &1 & o1 s1re
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29. Select the answer figure in which the

question figure is hidden?

o g3 87

d

29. 3 I AR BT =TT L [STEH T SATR(T

94 Ky

100 10

C. j C.
30. If North-East becomes North and North- 30. afe I I BN S SR IT-afem wfzm

West becomes the West. What will the g}m’ A IS FT R ST

East become? q?:f\

A. North-East A. ST

B. North-West B. Su-uiam

C. South-East C. af\&‘WT—‘EIQ

D. South-West D. efeorufem

SPACE FOR ROUGH WORK / T% &1d & forar srg
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PART - 11

General Knowledge A JAT
31. The remains of the Harappan 31.  ggwT Har & IERy fEferiad T w
Civilization were not found at the T &Y gu-
following places- : N -
A. Mohenjodaro A. i
B. Harappa B. &gl
C. Lothal C. oA
D. Ujjayini D. 3SR
32. Where does Andaman and Nicobar 32. IquedM Q?ﬁaﬁwﬂqﬂﬂ@ﬁ&%%‘?
. o '
Islands lie? A frEd
A. Bay of Bengal
B. Arabian sea B. ond
C. Indian Ocean C. fome werem
D. None of the above D. SWIRk T ¥ &g Tal
33. What is correct about ‘Fundamental 33, farear =1 Hiferer 1l o ° wm wE
Right to Education’? 29
) boouly s iy ot stes ) et
the Constitution. ii) e | T=oe 45 q
iii) By 86™ amendment it was o
recognised as Fundamental Right. iii) 86 o EMEM o gRT T HifeTeh RN
iv) Itis provided in article 31A of the
Constitution. # } i .
. o iv) € Gfaem & =g 31A | TEEna
A. (1) B. (1) (i) 3 >
C. () (i1) (ii1) D. (i) (i) (iii) (iv) !
A. () B. (i) (i)
C. (1) (i1) (iii) D. (1) (i) (iii) (iv)
34. Type of vegetation found in Sunderban 34. Wﬁ%&wa&mﬁw@aﬁ%‘?
;s: Tromcal A. SR TETeER
. Tropical evergreen '
, . B. 3wk uqse
B. Tropical deciduous
C. Montane - temperate C. weidia - ¥
D. Mangrove (tidal) D. " (ame)
SPACE FOR ROUGH WORK / T & & fora g
20362-MYWLN-PRV-XFYX-E 14 46 Set A



3s.

36.

37.

38.

Insulin was discovered by-
A. Laennec

B. Banting and Best
C. Jenner
D

. Waksman

A teacher finds out the subject related
difficulties of the children in the class.
He plans the next lesson to overcome
these difficulties.

What he will be doing among the
following?

A. Assessment of learning

B. Assessment for learning
C. Assessment as learning
D

. Assessment for ranking the student

Which of the following pair is not
correctly matched?

A. James Watt — Steam Engine

B. Alexander Graham Bell —
Telephone

C. J. L. Baird — Television
D. J Perkins — Penicillin

Which Asana is helpful in maintaining
normal blood pressure?

A. Shavasana
. Padmaasana

B
C. Shalabhasana
D

. Vakraasana

3s.

36.

37.

38.

sfor il @ o i
A. SATETH

B. dfdmaawd

C. SR

D. IR

T TRTerh et | sl ol forey weief

HISATSIT T I STAT 21 37 ShiSATSAT bt
T o oTT ST IS ISHT ST 2

o freferfad & & @ &
A. HREH &1 AR

B. HieH & fow stere

C. e % %9 | AThelT

D. foremeff &1 2ot yeH &= & forg
AT

frreaferfad & & =i | 3w gafora 78 22
A. ST e — ST 5

B. Uil ATGH 9 — ST

C. . Td. 99E — At

D. S Wehd — UFEe=

I |7 ITTE Tk 16 shl ATHT ST T |
TR BT 87

A. ETEd
B. UgHTEA
C. TATEd

D. dshrEaqd

SPACE FOR ROUGH WORK / T% &1 & o1 s1re
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39.

40.

41.

42,

According to Chhattisgarh Economic 39.

Survey 2022-23 based on the prevailing
price of Net Domestic Product, Advance
Estimates of State’s Per Capita Income
is-

A. 1,33,898/-
B. 1,70,620/-
C. 1,35,330/-
D. 1,40,898/-

Uber Cup is associated with which 40.

sports?

A. Cricket
B. Golf

C. Badminton
D. Hockey

A total number of students enrolled in a 41.

school from Class I to Class V are 60.
How many teachers will be required in
this school under Right to Education Act
2009?

A. 05
B. 04
C. 03
D. 02

What is correct? 42.

1) Both houses of State Legislature
assemble together.

i1) Both houses of State Legislature can
consider on any matter.

A. (i) is correct
B. (ii) is correct
C. (i) & (ii) both are correct
D. (1) & (ii) both are wrong

BTERTE 3TTfeh Tftedt 2022-23 fae Tsa
BT 3T o SRAfeTd WTe o TTEN W TS
ufa saft 3T o 1 g e 2

A. 1,33,898/-

B. 1,70,620/-

C. 1,35,330/-

D. 1,40,898/-

39T Y fohe @t T Heifera 27

A. foehe

B. Me®

C. defie

D. grhr

T ferarmer © el 1 - 5 % H F 60
forameff Frmifend €| 5@ foreamer™ & frer &
srferep sAferfem 2009 o feram farersht
TR B2

A. 05
B. 04
C. 03
D. 02

e T R?

i) Tsa faummves & g1 9 T a1y
Fad &

ii) T faermmves & g1 ge fohet fawr
O frem T dehd &

A. ()TEr?

B. (i) @&i?

C. (i) 3 (i) S T ®

D. (i) 3 (ii) SH1 Tera &

SPACE FOR ROUGH WORK / T% &1 & o1 s1re
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43. Which of the following document 43.

focuses on constructivist approach to
learning?

A.

National Education Policy 1986

freferfaa & @ o6 |1 gwdTas 31Rem %
TEATaTET gfEeRIOT W hiesd 82

A. TS fEerr Hifa 1986

B. TR UTea=l sh F@r 2000

B. National Curriculum Framework
2000 C. TS arga=rat i Tt 2005
C. National Curriculum Framework
. T fRreq Ak
5005 D. T e Aifd 1968
D. National Education Policy — 1968
44.  Match the following List-I with List-IT 44.  geft-1 o g=-11 1 gafard i qer =
and answer the following question. fau T e @ wE S gA-
List-1 List-1T -1 =-I1
Discoverer Discovery  CISET ICIS
p. Jenner 1. Blood Group p. AW 1. Bt
q. Watson 2. Penicillin q. AEET 2. gfafaem
r. Landsteiner 3. Vaccine r. eE 3. TR
s. Fleming 4. Double Helix Model s, GATHT 4. feopueett
Code- He-
A. p-3,q-1,1-2,5-4 A. p-3,q-1,1-2, s-4
B. p-3,q-4,1-2, 51 B. p-3,q-4,1-2,s-1
C. p-3,q4,1r-1,s-2 C. p-3,q4,1-1,52
D. p-3,q-2, -4, s-1 D. p-3,q-2, r-4, s-1
45. In which State, mineral - Lithium 45. g & ° oo f s o vyuer fra tsa d
deposits has been found recently? CIERID R,
A. Madhya Pradesh A TEER
B. Chhattisgarh '
B. Hl@Te
C. Jammu & Kashmir i
D. Rajasthan C. SHFHTR
D. TSI
SPACE FOR ROUGH WORK / T% & o forar swrg
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46.

47.

48.

49.

50.

The Rigveda describes the following
regions of India-

A. Satpura mountains
B. Sindh
C. Punjab
D. Sapt Sindhu Pradesh

‘Vasudhaiva Kutumbakam is related to-
A. Katha Upanishad

B. Chhandogya Upnishad

C. Maha Upnishad

D. Shrimad Bhagwatgita

Birth place of Gautam Buddha-
A. Vaishali

B. Kapilvastu

C. Lumbini forest

D. Rajagriha

Which of the following years has been
declared by The United Nations General
Assembly in its 75" session as the
“International Year of Millets”?

A. 2021 B. 2022
C. 2023 D. 2024

If the Gross National Product (GNP) is
greater than the Gross Domestic Product
(GDP) then,

A. Import = Export
B. Export < Import
C. Import < Export
D. Import # Export

46.

47.

48.

49.

50.

Fiae ¥ vday o fAmferiiad & o1 i

mnp

HATST Tad
e

EEIE]

AR SR

A. &3 3JUHNg

B. BI< UMY

C. Hel3uwg

D. fmgsrragir

I Seg T SI-H T oT-
A. et

B. Hitciae]

C. fsrHi=m

D. TS

O 0w »

R T HETHHT SR 75 of SRR H “HIL
(Millets) TSI T SqUE T a9 e d @
o e BT Sy fopa T 22
A. 2021 B. 2022
C. 2023 D. 2024

Hehed TS IcdTe (SHTHT) Fehed Se] SciTe
(SEidt) & srT e &,

A. T = ffa
B. fratd < smama
C. 3 < Fafa
D. 3 = fafa
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S1.

52,

53.

54.

PART - 111
Educational Interest

Which of the following qualities will S1.

you look out for in a person when
recruiting for work?

A. Dedication

B. Hard work

C. Interest in profession
D. All of the above

Psychologists consider ‘discipline’ to
be-

A. Doing the right thing only when
punished

B. Follow the rules
C. Follow the rules automatically

D. Stay well

Factors which affect a child’s physical
growth and development are:

A. Heredity

B. Environment

C. Neither heredity nor environment
D

. Both heredity and environment

Which type of learning is concerned
with perception of things to be learned
by primary sensory organs?

A. Sensory
B. Cognition
C. Verbal
D

. Discrimination

52.

53.

54.

forerur arferster

T % foTT eff shd w31y et srfem o
FrfeRaa ® & S & 707 <wil?
A. THYI

B. gl g

C. WIHE

D. Wi aff

ISR AT 3l WA ©-
A. G e T g wEl e
B. =i =t gt i

C. Fromt = wd: qreH

D. W E

ool ot ST gfeq 37K forerm =t srfera
T T R o

T T § Tore TR ohY fRreqT ot Eeer 22

A. I
B. qHfd
C. Hifas®
D. Weyd
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5S.

56.

57.

Which transfer of learning refers to the
transfer of knowledge and ideas where
the learner stays within the same
behavioural category in making the
transfer?

A. Positive transfer

w0

Vertical transfer

a

Zero transfer

o

Horizontal transfer

In terms of communication, most online
platforms of teaching and learning are:

A. Synchronous

o

Asynchronous

a

One-to-none

©

Tied to specific timeframe

You are a teacher at school. You have
been teaching chemistry to students for
the past 2 years. Recently, the physics
teacher resigned and the principal asked
you to teach the subject for a few days
until a replacement was found. You
will:

A. You reject it with
B. Acceptit

C. Be angry because this is not your
topic

D. None of the above

5S.

56.

57.

e 3T hI AT FEATAT 1 S o=
ST i HE A AT @ STl S et
TR A H T &1 SAdeTieh 20
TEl 87

A. FHIH T

B. SHTI&R ST

C. I ST

D. &fdst TeHiao

HT o waW H, Rreror ST € & At
HATH RICHH &

A. qeashTicTsh

B. Adcdehlict

C. T&-Y-HE Tl

D. fafkre g € fog

31 ferermers § fireren €1 o1 fuget 2 awt &
ST ohl T T8 96T & 2| el & 4,
Wifereht o f3Tereh = SEftwhT < o oK
TETT=TE + 30! 5 T o forg forsmr
UG o T e, STel ek foh oh1g SfaeermaT
& fore| 3y

A. 31T 3 SRR T &

B. T WHR AT

C. FRITYQ Bid FTTeh A8 SATIHT oI el &
D. ST H & 1S T
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58.

59.

60.

61.

Which step is prominent in the syntax of 58.

teaching model of memory level and
understanding level?

A. Planning

B. Exploration
C. Presentation
D

. None of the above

It is preferable to start the classroom 59.

communication with---------- .
A. Listening commands

B. Anecdotes

C. Unrelated questions

D

. Casual comments

In which of the following skill, testing 60.

of previous knowledge comes?
A. Skill of demonstration

B. Skill of introduction

C. Skill of stimulus variation
D. Skill of closure

You only know Hindi. You are going to 61.

Tamil Nadu next month as you have a
job there. You:

A. Go learn their language while
you’re there

B. Start learning Tamil

C. Right away quit your job because
you can’t learn Tamil

D. None of the above

T T N TH & o RIE0T Hied 6
e for=2mer T i T =T S 82

A. TS

frfafea & & forer pteret & g T a7
TY&TOT ATT 87

A. TGEH T R
B. uf=™ &1 &t
C. ST for=TaT 31 ieret
D. 3% & I

3T et Tédt ST §1 31T 37Tt /e
TG ST T2 & SRAfeh a8t SATTehT erdl 2
HY:
A. SIS 3T &2 ar SHeht ST HiE

B. dftret €T 3%

C. T 7o et Br 3 ifer qu afiret

T i ehd
D. SUH ¥ i A8t
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62.

63.

A teacher decides to form six groups of 62.

students and assigns a sub theme to each
group for discussion and reporting.
Which kind of communication model
will best describe his/her strategy in this
regard?

A. Transactional model
B. Interactional model
C. Horizontal model
D

. Linear model

Given Below are two statements: 63.

Statement I : Communication is viewed
as one of the social factors that
influence the society including
educational institutions.

Statement II: Communication does not
help develop, maintain and change
cultural settings of any society for that
matter.

In the light of the above statements,
choose the most appropriate answer
from the options given below:

A. Both statements I and statement 11
are correct

B. Both statement I and statement 11
are incorrect

C. Statement I is correct but statement
II is incorrect

D. Statement I is incorrect but
statement II is correct

U Rereh S o B8 HE - Al (Ui
AT & 3R ==t 3 fenfdn & foag v
T I Tk 3U-f TET oL 81 39 Hefy
Y fore TR T EIR HiS o 3okl WHIT hl
T 3T U hTT?

JHFIH Hige

EECAE G R E)

afest diea

e At

O N W »

= 31 e feg e 2

T | ; TR hl NeT(0Teh TEAHT e THTST
1 TTod S FTel ST e H § T
% & T @7 ST 8

FUT 11 : G 3G HTHA o forg foredt oft
TS 3T HiEah(ceh i i forenfad i,
SFTT T 3R e | Aeg Tl SidT 3

JYTH AT o 3Tl ¥, e few e
ferehedl # & e 39Yh 3T I:
A. U1 IR H [1SH1 Tt &

B. U [ 3T 11 SH1 Teid &

C. %I [ U2l ® Ao e 11 7Tl @

D. ¥ [ Ted & ifoh e 11 921 8
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64. You are to complete a course within a
month to qualify for a promotion that
you wanted your response will be-

A. Take the entire one month time to
complete the course

B. Complete the course at early as
possible

C. Complete the course at early as
possible and also refer to other
sources for more information

D. Ask for more time to complete the
course as you want to be through
with it

65. You have been unemployed for a long
time and now you have received a job
offer in a kindergarten, but you do not

like being with children, so:
A. You reject the job offer
B. You accept it only for a short time

C. You accept it and try to have fun
with the kids

D. None of the above

66. If a teacher finds a problematic child in
the class, what should he do?

A. Send the child back to home
immediately

B. Ignore the child
C. Punish the child
Provide counselling to the child

o

64.

65.

66.

YT o foTT 7T ITH i o foTu Taeht

T e o HiaR T e 0 T &, o

39 =med o for smueht ufafsear g

A. HTE T F o [T I T TS 1 99
o

B. UTSHSHH i FTIE 0

C. UT3UHH hT AR U L T A
SRR o feTT 317 =va ot oft Eeed of

D. UT3UsHH ! I A o g SAfereh wrer
TS &

AT S THT T ISR & ST 376 3T9eh!

foheTréa § el o1 TdTa fireTt 2, Afer

T sl o |1 T&HT qeiE T8 id g,

FEICAT;

A. 3T Fiohtt bl UThIT ol ST Hd
g

B. 3119 39 oIS G0 o foTq & &fieh st
g

C. 39 38 R Fd & 3R st & 91
e R Sl IR o &

D. 3T § ¥ i I

gfe e f31eTen ohedl § Ueh GHEITIE] <<
qTdT 8, 1 3 AT AT 12

A. = T QT TR AT A S
B. Sl %! 3U&T

C. =l I g Tl

D. el sl HISETAT
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67.

68.

69.

Which of the following statements about 67.

children is correct?

A. Children are passive recipients of
knowledge.

B. Children are problem solvers.

C. Children are scientific investigators.

D. Children are active explorers of the

environment.

A. A, B and D are correct
B. A, Cand D are correct
C. A, B and C are correct
D

. B, Cand D are correct

You are scared of inflowing deep water 68.

because of a childhood accident, but
your best friend constantly asks you to

learn to swim, then:
A. You try to swim half-heartedly

B. You try to learn to swim with full

enthusiasm
C. You won’t learn to swim

D. None of the above

Which one of the following is not an 69.

obstacle in problem solving?
A. Anxiety

B. Negative mental set
C. Insight
D

. Frustration

st & o | frefarfiad 3 @ i @ s
T2

o= T o FfSshar Sreerat &

o<l THET GHTETeR] Bid 2|

STeel ATk 3T BId 2

ool TITaT0T % Afsha A= B

A,B 3D T &

A, C3IRDTEE

A, B3R CTEE

B, C 3t D W&l &

T H g3 o T o BT AT et Tt
B 518 T ST §, A STkt T 3T

SR AT AR 9T HiEq o foTw shgar
2, -

A. ST SO T & A o T
3

B. 319 YL ICHTE o AT dTAT Hi@
TITE A &

C. 9 & e Hham

D. SWIh ¥ A g el

frferiad ® @ i aee quTe § sren

A. fHar

B. TR AR 6

C. g

(N

D. fyem

o a®w » 0w
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70.

71.

72.

73.

Which of the following is not related 70.

with cognitive domain?
A. Knowledge

B. Application

C. Valuing

D. Understanding

The determinants of individual 71.

differences in human are related to:
A. Difference in their heredity

B. Differences in both heredity and
environment

C. Interaction between heredity and
environment

D. None of the above

This type of counselling involves people 72.

who drop out from school and whose
difficulties are likely to be more severe.

A. Community based counselling
B. School based counselling

C. BothAandB
D

. None of the above

If you’re typing at slow desktop typing 73.

speed, which is the main reason for slow
growth at your previous jobs, then:

A. You will try to improve your typing
speed half-hearted

B. You will fully-focus to improve
your typing speed

C. You do nothing

o

None of the above

FHHfRad W & i |1 SHIcH S |

wsifere el 22

A. IH

B. STaed

C. Hed fgio

D. @dx

e § Jafteen frrareti o fefes geifea

&

A. ITH! STARTERAT H R

B. HATARTeRAT TR q2aor a1 H 3T

C. SATTERTERAT S qatawor =
HEHTITe

D. 3UIH H & hrg T

9 YRR T hTSEfeiT H o S I 81 §

ST Shet BIS ad & HIX ekt HisTsat
feren 7T B Bt EvTeT Bt 2

A. TR AT TR

B. Tl TR TR

C. AR BZMI

D. 39U%h 8 @ IS TE

Ife A9 i} fq | 2139 R, ST AT

forecft i 7 ot afte =1 e FrT e,

ar:

A. T HATY-3TYL AT G T 13T Tiie
R T HITTT R

B. 3T 37T TSI i H Gam T
foTe ot T & e Shisa war

C. AT FS & Hd 8

D. SWIh ¥ § H1g el
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74. An individual underlying potential for
acquiring skills is known as-

A. Intelligence
B. Personality
C. Aptitude
D. Value

75.  Which type of attention makes an
individual exercise his will power in a
single act to assign a work?

A. Implicit

B. Non formal education
C. Involuntary

D. Explicit

76. 1t is important that the teacher does not
segregate children into fixed groups
based upon intelligence quotient (1Q)
as-

A. TItis inconvenient for teachers
B. Itis inconvenient for schools

C. It does not allow children to
compete among themselves across
groups

D. The concept of 1Q is not stable and
it also leads to labelling of children

77. A suitable method of teaching primary
class children is-

A. Trial and error method
B. Imitation method

C. Lecture method

D. Play way method

74.

75.

76.

77.

HIRTSA STH A o [T Ueh A feh Sfdied
&THT o &Y H ST ST &-

A. gk

B. fthed

. AP

C
D. 5

[N

fohe TeRTX o1 €T Ueh S T<h ol Ueh T

T o TI 1ot 3==T SR o ST SRt

22

A. fafga

B. 3ru=riies fare

C. s

D. @y

I eyl @ foh Rereh gt ITRa (1Q)

TG 9T =1 2l (T2 qoel o e 7 -

A. 7% Rt % forg srgforemsie 8

B. % foremera 3 fore sgforemse &

C. 78 == ol aygl & 31 § yfoeraf
T hl STANT 81 3T 8

D. ITEH AT STTemon feer 72 € o7 3ot
el W AT off Bl &

SITeATHeF, T o SFeell ol TG ol SUTH
fafer 8-

A. odtegor SR T farfer

B. Tohdl [ty

C. = fafer

D. w3 fafer
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78.

79.

80.

Which law of the Gestalt Principle of 78.

the perceptual organization states, that if
enough shape is indicated, people
perceive the whole by filling in the
missing information?

A. Law of closure

B. Law of similarity
C. Law of proximity
D

. Law of common fate

The key to effective listening by 79.

students in a classroom is-

A. Sympathy towards the teacher
B. Interest in informal education
C. Empathetic learning
D

. Desire to memorize

One of your colleagues asks you to 80.

assist him in his personal work during
working hours, what will you do?

A. You will help him immediately

B. You will tell him to wait and help
him after working hours

C. You will not help him at all, as it is
his personal work

D. You will tell him that he should not
be asking people to help him with
his personal work

SATUTHF TS oh TSI THeaid ol
i 91 49y srarar 7, for afe vty st e
Hehd 2T SITaT B, a1 ST AT STHeh Ry shl
VR HYUT TS L 87

A. 9T (FASR T )

B. gu™ar 1 e

C. Ferear = fem

D. 9E= 9 &1

el | BT ST SWTE & H G -
A. Treres % wfq wergfa

B. o=t e o s

C. geyfaget ferem

NN«

D. 318 T I =37

SATYSHT Ueh TEhHT SATIY HTH o &2l & S
3G TSt o1 § Hag i o T shear 2,
ST T HTAT?

A. 3T IFAT A AEE HT

B. 379 38 % & 5l o o1 SA9T ol
I 3Eh! 7 L & fore wen

C. 319 36eh forespet it Hag el i,
Hifeh Ig IGRT st A &

D. 379 38 Iqmi foh 39 v i v g
AN & Hee A 7 =Ry
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81.

82.

83.

84.

General Hindi

hIT T Y16Q Sh3T ST YIS 8T 82
A. &9

B. fimie=r

C
D. st

faifeRa & 6 | oo Tt €2
A. 3 IH 914 % TS

B. T <31 R H o1 el T8
C. T H a1d S T3
D. HUI <7 9 H A1d $A T3

“GTeh o I UTd” TAThIT<h T Tt 379 2-
A. Tearfa =1 afadasfier amn

B. fertrer s

C. fufa # =1g afted &

D. dR -« dd dacd-T

a1 T T T & HEATT &-
A. TR
B. Y&
C. IH T
D

eaRE

PART - IV

85.

86.

87.

88.

T =

TR 3168 HIF AT T 27

A. JHETH

B. TV

C. FEm==®

D. fsara®

Tl ot STTeToh Sah R T hITTeT el
ST 8-

A. TG FIA

B. &1 i

C. tifigs firafe Fee

D. = &N

o aTert 3 W a1t T ST 6T BT g

ST AT 19 3 B O 1 LT B, 3= fohe
TR T ITeRT Fhad 82

A. TTREMEE I
B. HehadTaeh TRt
C. Hogare are
D. faemaraes arer
ot fereeit i 3 & i | TR YR R
A. WIS 9E E FaT - T T8, el A
B. Hf 3o W T - Td BT TS, el ST

C. AT U FeT - WA=,
AT

D. T o ¥ HaT - T & TS, el -
AT
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89. TEAT I AT A 27 90. <Fefi forer vt T 3182 B2

A. FHIRT THE A. et
B. 3G GHE B. SOt
C. wgsiife aame C. dfa
D. §<dAE D. Thi
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PART -V

General English

Read the following passage:

There is a wonderful spirit of
sociality in the brute creation. Many
horses, though quiet with company, will
not stay one minute in a field by
themselves; the strongest fences cannot
restrain them. My neighbour’s horse
will not only not stay by himself abroad,
but he will not bear to be left alone in a
strange stable without discovering the
utmost impatience, and endeavouring to
break the rack and manger with his fore-
feet. He has been known to leap out of a
stable window after company; and yet in
other respects is remarkably quiet, but
will neglect the finest pasture that is not
recommended by society. It would be
needless to instance sheep, which
constantly flock together.

But this propensity seems not to
be confined to animals of the same
species; for we known a doe, still alive,
that was brought up from a little fawn
with a dairy of cows; with them it goes
a-field, and with them it returns to the
yard. The dogs of the house take no
notice of this deer, being used to her;
but if strange dogs come by, a chase
ensure; while the master smiles to see
his favourite securely leading her
pursuers over hedge, or gate, or stile; till
she returns to the cows, who, with fierce
lowings and menacing horns, drive the
assailants quite out of the pasture.

Now answer question nos. from 91 to
94 based on the above passage.

91.

92.

93.

9.

T 30T

Which word of the passage means
‘tendency’?

A. Menacing
B. Endeavouring
C. Propensity
D. Sociality

What other animals, as per the passage,
dislike being alone?

A. Sheep
B. Dogs
C. Cows
D. All of the above

In this passage, the ‘brute creation’ has
been used for-

A. The horse
B. The dogs of the house
C. The doe

D. The dairy cows

What has one particular horse been
known to do when left alone?

A. To stay in a field for long

B. To leap out of the stable window

C. To drive away the assailants quite
out of the pasture

D. To go a field and return to the yard
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95. Choose the correct spelling:- 98.
A.

96. 1In a job advertisement, many vacant 99.

traffic

B. trafic
C.
D. trafik

traffick

posts have been advertised. And the
same advertisement has a clause that
reads — ‘The candidate may apply for
more than one post.’

Here in this sentence ‘may’ means-

A.

97.

capability
advice
possibility

volition

--- money the poor widow had 100.

collected over the years was stolen.

A.

Little

B. Alittle

C.

o

The little

Some

Which of the given words is an incorrect
form?

A. Injustice

B. Unjust

C. Unjustice

D. None of the above

A medicine that destroys bacteria is:-
A. Antibiotic
B. Antidote
C. Antiseptic

D. Antibody

Read the following statements:-
I. TIsaw him steal the money.
IL. I saw him stealing the money.

Only I is correct
Only II is correct
Both I and II are correct

o0 w >

Both I and II are incorrect
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46 | SET A

IR 3ifehd LT T OW 2% arfereRes 31k : 100
Time for making answers : 2 Hours Maximum Marks : 100
e :
1. 30 T URaeht § 100 7 ¥ — Tedeh W27 01 37k 1 & | Teft wor vty arfamd 2|
arr | TR Tl AT EEAT | ik
[ | 9T AT angar 30 30
I | 9E|= A 20 20
1 | foreror st 30 30
v | e 10 10
V | 9T St 10 10
2. T o IR AT TE OMR STR-IE (answer sheet) X 3ifeRe IR |
3. SHUTCHe, Hodieh Tl [ohaT STSRTT |
4. Tore off T8 o FTHIST AT AN O T WIATSEA Tl T SRT A 8 |
5. OMR?EI'{—QﬁZ(answersheet)wmwmﬁﬁm?aﬁmﬂgwwm

3OH Wg a7 faerae o11fe ug I It 98 T Bt A |

Note :

1. This question booklet contains 100 questions each question carries 01 mark.
All questions are compulsory.

Part | Particular No. of Questions | Marks
I | General Mental Eligibility 30 30
II | General Knowledge 20 20

IIT | Educational Interest 30 30

IV | General Hindi 10 10

V | General English 10 10

Indicate your answers on the OMR answer sheet provided.

No negative marking will be done.

Use of any type of calculator or log table and mobile phone is prohibited.

While using answer-sheet care should be taken so that the answer sheet does not get torn or

A

spoiled due to folds or wrinkles.
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